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QUESTION 1

Which of the following about the displayed IP filter is TRUE? 

A. TCP (protocol 6) packets with source IP address 1.2.3.0/24 and source port number between 666 and 999 are
forwarded. 

B. TCP (protocol 6) packets with source IP address 1.2.3.0/24 and source port number between 666 and 999 are
dropped. 

C. TCP (protocol 6) packets with source IP address 1.2.3.0/24 or source port number between 666 and 999 are
forwarded. 

D. TCP (protocol 6) packets with destination IP address 1.2.3.0/24 and source port number between 666 and 999 are
forwarded. 

Correct Answer: B 
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QUESTION 2

Which of the following is a characteristic of the IP layer? 

A. Provides a connectionless data transmission service. 

B. Provides physical interconnection of network devices. 

C. Provides reliable transfers of data. 

D. Provides services equivalent to the OSI data link layer. 

Correct Answer: A 

 

QUESTION 3

Based on the network diagram (click on the exhibit), what is the command to use on R1 to setup a static route to the
network on CR1 

A. config router static-route 192.168.2.0/24 next-hop 10.2.3.2 

B. config router static-route 10.2.3.1 next-hop 192.168.2.0 

C. config router static-route 192.168.2.0/24 next-hop 10.2.3.1 

D. config router static-route 10.2.3.2 next-hop 192.168.2.0 

Correct Answer: C 

 

QUESTION 4

Which compact flash on a Control/Switch processor on a Nokia 7750 SR stores the runtime image and the running
configuration? 

Latest 4A0-100 Dumps | 4A0-100 Study Guide | 4A0-100 Exam Questions                                3 / 4

https://www.pass4itsure.com/4a0-100.html
https://www.pass4itsure.com/4a0-100.html
https://www.pass4itsure.com/4a0-100.html


https://www.pass4itsure.com/4a0-100.html
2024 Latest pass4itsure 4A0-100 PDF and VCE dumps Download

A. SF 1 

B. SF 2 

C. SF 3 

D. Both CF1 and CF2 

Correct Answer: D 

 

QUESTION 5

Which of the following statements about router R3 is TRUE? 

A. Router R3 is the iLER for LSP B. 

B. Router R3 is the eLER for LSP A. 

C. Router R is an LSR for both LSP A and LSP B. 

D. Router R3 is LSR for LSP A and an LER for LSP B. 

Correct Answer: C 
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